2 NFOBELUICE ST —hE&EEHR

HET=DEm7EB A TS

(1)
(2)
(3)
(4)
(5)
(6)
(M)

2 5K
25755~ 307% AT
307%~ 35 AT
35k% ~ 40Tk AT
405 ~ 45 5% AT
457~ bORE A
505k LA L
FraEIpas
#

B f=DHEMEH A TS

(1)
(2)

B

Aot

e
Ul

BHEOBREHA TS

(1)
(2)
(3)
(4)
(5)
(6)
(7)

Eeyan=|

NEB

BEZE

2= R TR A b

EMR (L, ERT, SEhtft)
2 (BE)

Z D

MM

Bt

HEDBEEBA TS

(1)
(@)
(3)
(4)
(5)
(6)
(7)
(8)

e
EEEER
FHR

F %

B RRRE

IV xAT 4 TR
REE—E X%
= DA,

s

Ei

ek,

]|
)

OOOHDP—‘LOLD%

n]
]

[EE2S
1

20

- I~ =
O = O = DNWODN = o O O O = O O = 0

[\l
o

fR L
45. 0%
45. 0%

. 0%

. 0%

. 0%

. 0%

. 0%

. 0%

100. 0%

o O O o1 O O

Rk
85. 0%
15. 0%

0. 0%

100. 0%

TR

90. 0%
. 0%
. 0%
. 0%
. 0%
. 0%
. 0%
. 0%
100. 0%

o O O Ul O O W

AL
20. 0%
5. 0%
10. 0%
45, 0%
10. 0%
5. 0%
0. 0%
5. 0%
0. 0%
100. 0%

20204



RETEVELELEVDERWET D
EIEES - QU §5 =

(1) g 60. 0%
(2) Wi 8 40. 0%
LA ERAS 0 0. 0%
E 20 100. 0%

FUELZLEWEESERIEGATY H

[EIpi=y TR

(1) BB LERAREHEL D 4 20. 0%
(2) #55% () oz 1 5. 0%
(3) EHHUE 2 10. 0%
(4) HE, Ak 0 0. 0%
(6) HIOEHR 4 20. 0%
(6) & DAt 1 5. 0%
pudEIpas 8 40, 0%

& 20 100. 0%

HIET=-DERIZ B (A=A - g - EEFICOWLWTEEM SN
EA% HERRH

(1) 99X a=d—a Bl 11 16. 2%
(2) EHEAHTvP = NEHEES 7 10. 3%
(3) V—&—vv7 - EZfTT) 3 4. 4%
(4) FL¥r5—iavig 6 8. 8%
(5) AT - ZREkE 8 11. 8%
(6) EHEFS 8 11. 8%
(7) BP9 ENRE 14 20. 6%
(8) FREAEERES 4 5. 9%
9) THEHDTHES 4 5. 9%
(10) [EIRERME 3 4. 4%
e ] 2 0 0. 0%

& 68 100. 0%




REZOA)F 2 LELTHICERLTELLVAR (25 (L (5DFT)
[EIECS - G 152

(1) Bhwicr—=%2BWWENAE (ToT, ICT, Ai% 12 22. 2%
(2) EMBEEHOE - FHEICERZRBVWEAR 10 18. 5%
(3) FEH - FEH -  FRICERKLEBWEZRE 12 22. 2%
(4) ATREFR 4 7. 4%
(6) FSEER 2 3. 7%
(6) BHZEZR 2 3. T%
() fiia, Ak 0 0. 0%
8 BERE 1 1. 9%
(9) HREE, FHIF 4 7. 4%
(10) ERLZ B 3. 7%
(11) &+ - BELF 4 7. 4%
(12) BETHF 0 0. 0%
(13) BRiE, BFR=RAF— 0 0. 0%
(14) BER FHEFH) 0 0. 0%
JE (a2 if 1. 9%

# 54 100. 0%

REFICBEWTHFRER CTRICEHRLTIELLIEF
EIECS QU dze

(1) AZEE#HZ 7 L X7 3 8. 3%
(2) RZF, BZ BAFREZIRIC 3 8. 3%
(3) EHiGBAIOa—ALRE 2 5. 6%
(4) FEREEL 9 25. 0%
(5) BREEBOEDDI) F=T A 6 16. 7%
(6) WHELTWERATICH=ES 5 13. 9%
(1) A —Fy MEEPHFDL AT A 5 13. 9%
(8) HRMAH OFtE MIEE L% Chl# 2 5. 6%

FrdEIpas 1 2. 8%

# 36 100. 0%




